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2.

Map 1 shows two faults, F1 and F2.

(@) Complete Table 2 with your evaluation of two statements about Fault F1 and state your

evidence from Map 1.

[2]

Statement

Evaluation
(true/false)

Evidence from Map 1

Fault F1 shows strike-slip .
displacement

Fault F1 dips at a lower angle | ¢
than Fault F2
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Sticky Note
In this answer the top line of the table notes that the beds have been displaced and are no longer aligned. However, this also happens when a dip-slip fault causes the vertical displacement  of dipping beds. Therefore simply stating the fact that beds are no longer aligned is not sufficient evidence of strike-slip movement. The candidate should have written that the beds in the fold are all displaced in the same direction (to the left) or that each bed maintains an equal width of outcrop on either side of the fault. These are the only indicators that the fold has been displaced by a strike-slip rather than a dip-slip fault.
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2. Map 1 shows two faults, F1 and F2,
(a) Complete Table 2 with your evaluation of two statements about Fault F1 and state your

evidence from Map 1. [2]
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2. Map 1 shows two faults, F1 and F2, “y
(a) Complete Table 2 with your evaluation of two statements about Fault F1 and state your
evidence from Map 1. (21 \
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Sticky Note
This answer correctly noted in the first line of the table that not only were beds displaced, but that they were all displaced in the same direction, so demonstrating strike-slip movement. However in the second line of the table, the student failed to state the evidence that indicated  the fault was vertical i.e “Fault 1 is vertical because it is a straight line on the map”. This was quite a common error.
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Sticky Note
In the answer, both aspects of the question are fully considered and hence both marks have been awarded. The second line not only states that F1 is dipping at 90 degrees and that F2 dips at less than 90 degrees (which by itself would not be sufficient for a mark), but also states the map evidence for this. 
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3. Specimen C is representative of Rock Unit C on Map 1. o

(@ (i) Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
[4]
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Figure 3a
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(a (i) Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
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(a) (i) Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
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Sticky Note
The error in this drawing is that it shows a series of fully interlocking crystals more typical of igneous or metamorphic rocks, rather than sedimentary grains which do not interlock and which should have been shown for sedimentary specimen C. The drawing should show grains with pore spaces between. The size, shape and sorting of the "particles" is appropriate for specimen C.   


(@ (i) Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
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Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
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Sticky Note
This is the perfect answer showing grains rather than interlocking pores. The grains are also a variety of sizes which reflects the relatively poor sorting of Specimen C, and the sizes are an appropriate representation of those in Specimen C. The grains are correctly drawn as somewhat angular.


(a (i) Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
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(i)

Complete Figure 3a by drawing, to the scale provided, the texture of Specimen C.
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Sticky Note
The drawing correctly shows grains rather than crystals. The range of sizes is also appropriate but the error is that the grains are too rounded, the candidate has failed to note the more angular nature of the grains in Specimen C. This was the most common mistake in the answers to this question.


6.

(@) The topographic profile below was taken along the line X-Y on Map 1.
Part of the base of Rock Unit C and Fault F2 have been inserted.

Complete the sketch of the geological cross-section along this line using Map 1.

Draw the rock units. Use similar ornament or letters for these as used on Map 1.

Draw and label any fold axes.

Draw arrows alongside Fault F2 to show movement.

Project the rock units and structures above the ground surface to illustrate any cross-cutting relationships.
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Draw arrows alongside Faull F2 to show movernent.

(2]

surface 1o illustrate any cross-culting relationships.

Project the rock unils and structures above the ground
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Draw arrows alongside Faull F2 to show movement,
Project the rock units and structures above the ground surface 1o illustrate any cross-culling relationships.

zh


Sticky Note
The candidate has failed to follow the instruction given to "project the rock units and structures above the ground surface to illustrate any cross-cutting relationships". Consequently the candidate has not been able to access 2 of the 12 marks available for the cross section. This is quite a common error. Students should mark on above the land surface the former position of the beds and structures before erosion removed them.
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Sticky Note
This candidate has attempted a projection of the bed boundaries and structures above the land surface but has gained no marks in this example. Simply projecting the boundaries without showing the actual cross-cutting relationships is of no value. The unconformity at the base of rock unit H is younger than the anticline, so the rock units forming the anticline should be drawn crossing the unconformity at the base of H. Instead the unconformity at the base of H should "cut the top off" the anticline.
The unconformity at the base of rock unit G is younger than that at the base of rock unit H. Consequently the unconformity at the base of H should be extended further up to the right until it meets the horizontal unconformity at the base of G. This would demonstrate that rock unit G has a cross-cutting relationship with rock unit H.
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Sticky Note
This is a model answer in every respect for this cross-section. The projection of the unconformity at the base of rock unit G is correctly drawn cutting fault F2, the unconformity at the base of rock unit H and all the rock units forming the folds in the east of the section. The projection of the unconformity at the base of rock unit H is also correctly shown cross-cutting the dyke and the rock units forming the anticline in the west.
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across the fault
or
fold/APT displaced
horizontally/laterally
or
F2 displaced

horizontally/laterally

Evaluation False (no credit)
but only continue marking if
evaluation is false
Evidence = F1 is straight so
vertical
or

F2 is not straight or is
sinuous so dipping less than
90°

Q2 Marks Expected Answer Acceptable Answer Do Not Accept

(a) 1 e Evaluation True (no credit) o Reference to dextral or right
but only continue marking e Reference to horizontal
evidence if evaluation is true displacement of one identified
Evidence = bed only (which could occur
(All) beds displaced with dip slip)
horizontally or laterally in o Just the term “Displacement”
same without idea of horizontal or

1 direction/left/sinistral/to west lateral or left or sinistral or to

west

F1 is vertical or F2 dipping
less than 90° without
statement of evidence from
the map

© WJEC CBAC Ltd.







Grains with relevant sorting
i.e. a variety of sizes

Q3 Marks Expected Answer Acceptable Answer Do Not Accept
@)() 1G Grains touching other grains | ¢ Minimum of 1 contact between grains Entirely “floating” grains with no
contacts
Crystalline (all contacts shared
1Si Grains correct size using Grain size mainly 0.5mm to 5 mm. Some with other crystals/grains)
scale provided may have the odd larger individual grain
1Sh Grains sub angular —sub Well rounded grains
rounded
1So

All grains same size
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Q6

Marks

Expected Answer

Acceptable Answer

Do Not Accept

(@)

12

See
annotated
cross
section
answer

Candidates are asked to
complete a sketch cross
section not to construct, so
the mark scheme allows for
some variations in
dips/positions of beds

Approximate dip values for fold limbs
(80°-60°) and (40°-20°)

Any dip > 5° on unconformity at
base of G

Any dip <5° or > 20° on
unconformity at base of H
Vertical APT of folds or APTs that
do not approximately bisect fold
limbs

Base of unit C dipping towards X
in west of section, if it is drawn
from the same point as the
outcrop of the unconformity (base
of unit H)

(b)

Folding between G and H
Folding between B and D
F1 younger than F2 ( wherever they

are located in the sequence)

F1 and F2 between D and B

Folding arrows which point into
boxes G or H

Folding arrows which point into
boxes B or D

Fault arrows which point into
boxes B or D

Fault arrows which do not
specify FLor F2 i.e.if just
labelled F or fault then this is not
acceptable

Total 16
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